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Answer	
  the	
  following	
  questions	
  in	
  a	
  separate	
  sheet.	
  Provide	
  your	
  solution	
  to	
  
each	
  problem	
  completely.	
  State	
  all	
  your	
  assumptions.	
  
	
  

1. The	
  circuit	
  shown	
  in	
  Fig.	
  1	
  has	
  an	
  input	
  current	
  source	
  is.	
  Show	
  that	
  the	
  
output	
  is	
  proportional	
  to	
  this	
  input.	
  

	
  

	
  
	
  

Figure	
  1	
  
	
  

2. Find	
  vo	
  and	
  io	
  for	
  the	
  circuit	
  shown	
  in	
  Fig.	
  2.	
  
	
  

	
  
	
  

Figure	
  2	
  
	
  

3. Design	
  the	
  circuit	
  in	
  Fig.	
  3	
  so	
  that	
  vo	
  =	
  20vs.	
  
	
  

	
  
	
  

Figure	
  3	
  



	
  
4. Find	
  vo/vs	
  	
  in	
  Fig.	
  4.	
  

	
  

	
  
	
  

Figure	
  4	
  
	
  

5. The	
  capacitor	
  volatge	
  in	
  the	
  circuit	
  shown	
  below	
  is:	
  
v(t)	
  =	
  2.4	
  +	
  5.6e-­5t	
  V	
  for	
  t	
  ≥	
  0.	
  

	
   Determine	
  the	
  voltage	
  i(t)	
  t	
  >	
  0.	
  
	
  
	
  

	
  
	
  

Figure	
  5	
  
	
  

6. The	
  inductor	
  current	
  in	
  the	
  circuit	
  shown	
  below	
  is:	
  
i(t)	
  =	
  3	
  +	
  2e-­‐3t	
  A	
  for	
  t	
  ≥	
  0.	
  

	
   Determine	
  the	
  voltage	
  v(t)	
  t	
  >	
  0.	
  
	
  

	
  
	
  

Figure	
  6	
  
	
  

	
  
	
  


